
For Technical Support: www.panduit.com/resources/install_maintain.asp

INSTALLATION INSTRUCTIONS © Panduit Corp. 2022 V00030AP

Page 1 of 6

VERTICAL 4 POST TIE OFF BRACKET

Part Number(s): V4PTOB, V4PTOBWH

Required hardware - included

Required tools - not included

(6) M5-10mm CARRIAGE BOLT

(14) M6 FLANGE NUT

RATCHET W/
M7 SOCKET
& M10 SOCKET

Rack Brackets

R4P
Mount
Brackets

Upper Panel

Lower Panel



For Technical Support: www.panduit.com/resources/install_maintain.asp

INSTALLATION INSTRUCTIONS © Panduit Corp. 2022 V00030AP

Page 2 of 6

Tie Off Brackets can be adjusted to fit 42RU, 45RU & 52RU racks. See below for hole spacing for your specific rack height.
TIE OFF BRACKET HEIGHT ADJUSTMENT

M5 Carriage
bolts

Upper Panel

Lower Panel

42RU



For Technical Support: www.panduit.com/resources/install_maintain.asp

INSTALLATION INSTRUCTIONS © Panduit Corp. 2022 V00030AP

Page 3 of 6

TIE OFF BRACKET HEIGHT ADJUSTMENT (cont.)

M5 Carriage
bolts

Upper Panel

Lower Panel

45RU



For Technical Support: www.panduit.com/resources/install_maintain.asp

INSTALLATION INSTRUCTIONS © Panduit Corp. 2022 V00030AP

Page 4 of 6

TIE OFF BRACKET HEIGHT ADJUSTMENT (cont.)

M5 Carriage
bolts

Upper Panel

Lower Panel

52RU



For Technical Support: www.panduit.com/resources/install_maintain.asp

INSTALLATION INSTRUCTIONS © Panduit Corp. 2022 V00030AP

Page 5 of 6

1. Attach R4P Rack Mount Brackets at top & 
    bottom of Rack using (4) M6 hex nuts.
2. Attach Rack Bracket to R4P Mount brackets
    using (4) M6 hex nuts.
3. Secure assembled panels to the Rack 
    Brackets using (6) M6 hex nuts.

Assembled 
Panels

M6 Hex 
Nuts

Rack 
Brackets

R4P 
Mount 
Brackets

R4P TIE OFF BRACKET ASSEMBLY

R4P Mount Bracket
Detail



INSTALLATION INSTRUCTIONS © Panduit Corp. 2022 V00030AP

E-mail:
techsupport@panduit.com

Phone:  
866-405-6654

For Instructions in Local Languages
and Technical Support:

www.panduit.com/resources/install_maintain.asp www.panduit.com

Page 6 of 6

AR4P TIE OFF BRACKET ASSEMBLY

1. Attach Rack Bracket to rack 
    using (4) M6 hex nuts.
2. Secure assembled panels to
    the Rack Brackets using (6)
    M6 hex nuts.

M6 Hex nuts

Assembled 
Panels

M6 Hex 
Nuts

Rack 
Brackets

AR4P Rack Bracket
Detail


